Ratio to ATLAS

1072

1073

107

[EEY

0.5

Rivet 3.1.10, = 2.3M events

7000 GeV pp Underlying Event
L L L L L L L L L L L L
S(E) (1.6 <l < 2.4, 57> 0.50.2) GeV, éT”z > 20 GeV, 12| < 2.5).

m ATLAS
= --0O-- Herwig++ 2.7.1 default =
— --3-- Herwig 7.2.1 default B -
| —¥— Herwig 7.2.1 softTune ! |
?, | | [ | | | | [ |, | | R [ | ,E
:l T T T T | T T T T | T T T T | T T T T |:
- S o =
C O o o .
el TP ST :
B \é‘)\[ﬁl;:y‘% """ EE"\T\/\/ J ' :
i Fo | d .
o Ii} ' |
| " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 ! 1 " 1 " |
0 10 20 30 40

sum E_ [GeV]

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


